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35.

36.

37.

38.

39.

40.

Equilibrium constant (Kp) for the reaction—

2HS(g)=2H,(2) + S,()1s0.0118 2t 1065°C and heat of &mmonano:
is 42.4 K_Cal. Find the equilibrium constant at 1132°C.

(RfFfS T (Kp) 1065°C SIIAT 0.0118 4% fRrate 1
42.4 K.Cal 2 1132°C SR FOFIAIT T I 3 ?)

Why Boron does not form BF ~ ion?
(@I BF 5107 3! (& 2)

Conc.H,SO H,0
CH,CH =CH, 50 5 A —> B.

Write down the name and structure of A and B.

(A8 B g3 7% 8 757 AT @Y 1)

Phenoxide ion has more no. of resonating structures than Carboxylate
ion but Carboxylic acid is a stronger acid than phenol - why?

( CETHIRS ST ATHTATDS 515 IR S SCer (3 18
SR w0ifis e weePs e e e)

KHF, exist but KHCI, does not - why?

(KHF, < =g e g KHC, G (A WG (3 (1)

Give the TUPAC name of the following compounds:

(Mesa ANstsgf&a IUPAC A4 H18)

)  CH,COCH,COOC,H,

) HOH,CCH=CH- CH(Br)COOH

[Page80f8]

Chemistry Aptitude Test —2018
Stage - III (For Class : XT)
Full Marks : 50 Time allowed : 1hr. 30 mnis.

Group -A
I.  Whichamong the following has the maximum no. of atoms?
(57 RMBCS I R FIGTT =)
a) 64gm SO, b) 48gm O,
c) 8gmH, d) 44gm CO,
2. Whichofthe following pairs of nuclides are isodiaphers?
(Mox e SR o isodiaphers?)
8 CV 0" b) HY, H
Q) ,Mn%, ,Zn% d) I, He'

3.  Forthereaction 2NH, (g) —> N, (g) +3H,(8)
Which one of the following is correct?
(Seim R w0 Fosa corgd fdwe)
a) AH<0, AS>0 b) AH>0, AS<0
) AH>0, AS>0 d) AH<0, AS<0
4. TheKsp for Ag,CrO, is 1.1 x 10" at 298 K.
The solubility (in mole/L) of Ag,CrO, in 0.1 (M) solution would be —
(Ag,CrO, < aryet e 1.1 x 107 (298K SIHIRIM). 0.1 (M) 78T

Ag,CrO, % Brye! (G / fbT) T)
a) L1x107" b Ll1xi10™"
¢ 9x10° d Llx10"

(Pagatof8)
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The electronegativity of the following elements follows the order

(57 (N SfbeamITFIos 4 =)

a) C<N<Si<P b) Si<P<C<N

¢) N<Si<C<P d) P<Si<N<C

_ Which of the following salt on heating does not produce NO, gas?
(AT @I 716 T FA0a NO, U1 et 2 12)

a) AgNO, b) KNO, ¢) Cu(NO,), d) Pb(NO,),

Which of the following salt leave no residue on heating? 5 :

(ABT L T8Q FATA (T I A1)

a) (NH,),Cr, O, b) (NaNO,

c) NH,NO, d) Pb(NO,),

. The oxidation no. of Cr in CrQ, is — (CrO, 9 Cr 99 &7« 7R¥YI T )

a) +5 b) +6 c) +10 d -4

. Inwhich of the following changes maximum energy would bereleased? &

(7 o ~ifasaiTe it (N =¥ fefe zwe)

g O(+e—>07(g b)O(g9+te”—>07(g)

9 S(@+e —>57(g d) Se+e —>S5(g)

. Correct order of dipole moment of NF,, NH, and BF;is—

(NF,, NH, ‘6 BF, % fa0sg SMed #Aide 3 2 —)

a) NH,>BF,>NF, b) BF, > NF,>NH,

¢) NH,>NF,> BF, d) NF, > NH, > BF,

. The change of density (d) of a gas on changing Temperature T —2T
and Pressure P— P/4 would be — ‘

(1A M T Afrada, Stsimrara s T — 2T 8 5= 4

LIESICE P — P/4 3e, 30 —

:..mua 20f8] i

30.

31.

©o32.

T 33,

34.

Which of the following would decolourise bromins solution?
(A7 @ QIR 73w TR I
d
s [ ® ﬁm 0 ﬂu ) [
The shapeof compound (H,Si), Nis— ’
(N(SIH,); THE s 2= )
a) Tetrahadral (Fg¥=i®®)  b) trigonal planer (R rrefe)

¢) Pyramidal (fR1fTes U) d) None of the above (PR GEHIR )

Group-B
Why is an organic compound fused with sodium for ﬁuumﬁqomﬂ.
halogen and sulphur? “
(ARG, FICATHA 4R ATFL *FrFt I T o AT
AR e Bee 0 Rifrs 731 20 AT
Mention two reactions of benzene to show its different behaviour from
that of the cyclohexene
(AT e R fon oriem sor 7o RFma S+ )
Aitange Be(OH), , Ba(OH), and Ca(OH), in order of increasing
solubility in water and explain.
(Be(OH), , Ba(OH), and Ca(OH), (% &= SRISIH SRS Sl 1SS
TR IO )
Find the work done when 1 mole of hydrogen expands isothermally from
15 to 50 litres against a constant pressure of 1 atm at 25°C.
(1 CIeT WRGITEA ATSIATSI 1 IATASAT 510 15 (/TS 50 o
IR T T I SR ey w1)

[ Page 7 of 8]
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b -3

25.

26,

27.

28.

I the volume of definite amountof o g Ia reduced (o _" of 1 Initial
volume (1= conut) then its presute would ho -

(centet i (AW ATl 21101 SIrge edie wetm " o) NeFloe
pal ot (1 - Ham) imiBa i+l ara
WP b) 2P ¢) 4P
[P = Initial pressure (214fitm vi+)]
Which of the following should be the product when vispours of BICI, nre

d) 6r

pasned over hot Mg -
(SICI, it a1 Bag My «a B Mo «1a1ce owts(® Bewty arat)

w)  SiCl, -MgCl, b) Mgsi +Cl,
c)  MgSICI, d) Si+MgCl,

T'he correct ncidity order of the following compounds is -

oH ol oo YOI

A > .
h[O) iy (O) iy [O)
A_“_ cn,

(GTaa cnpyforn onfraern #fda @ e —)
by IV:=1l>1>1
dy 1> 1= 1v o= |

w) ML=V =10 =1
¢y M =Ir=1=1Iv
Which one ol the following alkane is least stable 7
(Mesar care] s ) el e)

u) Q b) , Tt
c) d) NV

i [Pago6of8)
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12,

13.

15.

16.

o) 4 d) 4

h) % 2

i) m
HHow many 11* lons are there in 10 ml solution of pH =4,
(i1 = 4 fAf0 A 10 ml o wufb 1 Gl =10e 1)

n)  6.023x10" b) 6.023 x 10"

¢) 6.023x 10 dy 1 x 10"
In the reaction Cl (g) + X OH" — Y ClO, +Z 11,0 + 10e, the sum

of X, Y und 7 would be ~
(@oeaa fafaafBee X, Y © Z a7 il @i —)

n) 20 by 10 c) 1l d) 6
Which of the following is present in pyrosilicate?

(M7 oS ARCAPRCRD qiesr)

a) S0 b) Si,0,* c) Si,0,* d) (8i0,»),

Which of the following carbocation is more stable?
(iwa e aAmir= cf rarit )

@
0) C,H, - mw_: b) C, H, - C(CH)),

D
¢) on___nmm‘.:}.n

Which of the following is not an electrophilic substitution reaction ?

(v o Yoot afeais R wme)

- E{f .
a) np_:_. CH, ~Gone. 50> Mitro toluene (0, p)

‘ CH,CI

®
d) CH,=CH

{ T,
b)) C, F Anhydrous AICT, Toluene
L} . n
¢) C,H,~CH,—————> Benzyl chloride
d) C,H,-CH, |_qm|.v Chlorotoluene (o, p)

[Page30f8]
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17. Which one of the following is the formula of Calgon— F 21.
(BT FH® JANAT A0 ?)
a) CaNaP,0,, b) Na,[Na,P,0,] \
¢) CaCo,. MgCO, d) Na KMnO, 5
18. The enthalpy of formation of NH, is - 46.0 kj / mole. So the enthalpy & 22
changes for the reaction
2NH,(g) —>N,(g) + 3H,(g) would be —
(NH, <9 95 ©t*l —46.0 kj / mole, ®T= $ o1z Rfraifta Rt oot
I-)
a) 46Kj/mole b) 86 Kj/mole
c) 92Kj/mole d) 64Kj/ Bo_o ¢
19.  Which of the following compund would show blood red clourationin A s
Lassign's est? 4 23.
(e @R A AR 3R 3 (i )
NO,
2) Inz\@\ b) 8%@\75, 24,
o Cl
0 O o O
oN COOH
20  Identify primary pollutant from the follwoing:
(ot e 2 T ereps 7o 1% 99)
a) CO b) DDT ¢) CO, d) all of these.
[Page4of8]
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The maximum number of structural isomers possible for the hydrocarbon
having the molecular formulaC H is—

(C,H, A RS 2Rug e st 2 51w e swmmr 2 )
a) 12 b) 3 c) 9 d) 5

In photo electric effect relationship of K.E. of ejected electron and
frequency (v) of incident radiation can be best represented by -
(FORETIGT 2SI oL 5S FRT AR @ oo afim
TR 0o Ho(E 13 2t 709 ———— wran)

a) KE ~H S__nm‘ M
\_r -V \_, >V
&/ AN

Which of the mo:oium can show inert pair effect?
(R @D 21 corarT 21T (TS i)

8) s—block b) p-block «c)d-block d) f-block

For the reaction N,0,(8) <= 2NO,(G) a. and rﬂv are related as —

Awiﬂum@aaaﬁapa _Qﬁx.saaﬁv
a o= xv b) a = K
2.1 (4+Kp)
- 1 \ =4 \I@I
4+Kp e PG+
[Page5of8]
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